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There is a parliamentary system of Government in
India because the

(1) Lok Sabha is elected directly by the people.

(2) Parliament can amend the Constitution.

(3) Rajya Sabha cannot be dissolved.

(4) Council of the ministers are responsible to the Lok
Sabha.

Options :
nosliZ21r201. 1

22317217202, 2
soslr2l 205 o
22317217204. 4

Question Number : 2 Question Id : 5531724316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Gilt — edged market refers to
(1)  Bullion market
(2) Market of Govt. Securities

(3)  Market of guns
(4) Market of pure metals

Options :
SoSlr2l7200: 1

2231721 7206. 2
o3l 2l 207, 3
55317217208. 4

Question Number : 3 Question Id : 5531724317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following is known as the ‘Coffee

Port’ of the world?
(1) Sao Paulo

(2) Santos
(3) Rio de Janeiro

(4) Buenos Aires

Options :
ood3lr 217209, 1

22317217210. 2
oo317217211. 3
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55317217212. 4

Question Number : 4 Question Id : 5531724318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For increasing milk production, which state launched
Rs.215 crore project ‘Milk Mission’ in July, 20187

(1) Meghalaya

(2) Assam

(3) Tripura

(4) Nagaland

Options :
ol idlrZ1% 1

oo317217214. 2
SoolrZlr2ly. 5
o2317217216. 4

Question Number : 5 Question Id : 5531724319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following is the main characteristic of

mixed farming?
(1)  Cultivation of both cash crops and food crops.

(2) Cultivation of two or more crops in the same field.
(3) Cultivation of crops and rearing of animals together.

(4)  Cultivation of fruits and vegetables.

Options :
sl 2l rZ1T: 1

55317217218. 2
BOILF 217219 3
22317217220. 4

Question Number : 6 Question Id : 5531724320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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When you travel in certain parts of India, you will
notice red soils. What is the main reason for this
colour?

(1)  Abundance of magnesium

(2) Accumulated humus

(3) Presence of ferric oxides

(4) Abundance of phosphates

Options :
55317217221. 1

22317217222, 2
DaSLIZlr2es, 3
22317217224, 4

Question Number : 7 Question Id : 5531724321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following sets of elements were primarily
responsible for the origin of life on the earth?
(1) Carbon, Hydrogen, Nitrogen
(2) Hydrogen, Oxygen, Sodium
(3) Oxygen, Calcium, Phosphorous
(4) Carbon, Hydrogen, Potassium

Options :
oo3lr2lrZzy. 1

22317217226. 2
SoSLEElrder, 3
2o317217228. 4

Question Number : 8 Question Id : 5531724322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is NOT true?
(1) Khaira is a disease found in paddy.
(2) False smutis a disease found in barley.

(3) Rust disease is found in wheat.
(4) Early blight is a disease found in potato.

Options :
SoS17217E2Y. 1
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55317217230. 2
So3Lr2lr23l. 5
Do317217232. 4

Question Number : 9 Question Id : 5531724323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Golden rice variety has been developed to combat the
deficiency of

(1) Iron

(2) Vitamin C

(3) Calcium

(4) Vitamin A

Options :
sl 2l 238 1

02317217234. 2
55317217235. 3
22317217236. 4

Question Number : 10 Question Id : 5531724324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A person of mixed European and Indian blood in Latin
America is called a

(1) Mulato

(2) Mestizo

(3) Meiji

(4) Mau Mau

Options :
TSI B e P

55317217238. 2
SOSLEElrdss, 3
22317217240, 4

Question Number : 11 Question Id : 5531724325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In the context of International Trade ‘Early Harvest
Package’ refers to

(1) A precursor to a free trade agreement between two
trading partners.

(2) A clause related to the agreement on agriculture
under the WTO.

(3) A subsidy mechanism given to the developing
countries for trade in agriculture.

(4) A transportation agreement signed between
countries for the movement of goods.

Options :

55317217241. 1
05317217242, 2
55317217243. 3
55317217244 4

Question Number : 12 Question Id : 5531724326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The nitrogen present in atmosphere is
(1)  of no use to plants

(2) injurious to plants

(3) directly utilized by the plants

(4) utilized through micro organism

Options :
55317217245. 1

22317217246. 2
po31/7217247. 3
55317217248. 4

Question Number : 13 Question Id : 5531724327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Agricultural Scientist M.S. Swaminathan received an
honorary medallion from India for his contribution
towards the development of agricultural practices from
which country?

(1) Canada

(2) Australia

(3) New Zealand

(4) Mexico

Options :
55317217249. 1
el fZ1lr251) 2

o317 21 1rEbl. 3
22317217252. 4

Question Number : 14 Question Id : 5531724328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ICAR, New Delhi has identified three BT cotton
varieties for cultivation in Punjab, Haryana and
Rajasthan; which were developed by Punjab
Agricultural University (PAU), Ludhiana recently.

Which one of the following is NOT among those three?
(1) PAUBT-1

(2) BT -1861

(3) F-1861

(4) RS -2013
Options :

BOS3LE21 1203, 1
22317217254, 2
Soslr2lress, o
BOILF 217206, 4

Question Number : 15 Question Id : 5531724329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Most abundant Carbohydrate in the world is
(1) Pectin

(2) Rubisco

(3) Hemicellulose

(4) Cellulose

Options :
oo3lr2lrZsr, 1

22317217258. 2
SOSLIElrEss, 3
55317217260. 4

Question Number : 16 Question Id : 5531724330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is known as queen of

spices?

(1) Clove
(2) Pepper
(3) Nutmeg

(4) Cardamom

Options :

55317217261. 1
55317217262, 2
Soal7217263. 3
55317217264 4

Question Number : 17 Question Id : 5531724331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which city has NABARD launched South East Asia’s
first centre for ‘Climate Change’?

(1)  Jaipur

(2) Patna

(3) Lucknow

(4) Chennal
Options :

bodl¥21rZes; 1
22317217266. 2
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55317217267. 3
55317217268. 4

Question Number : 18 Question Id : 5531724332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

World Bank assisted project SMART was launched in
(1) Rajasthan

(2) Gujarat

(3) Maharashtra

4) Punjab

Options :

55317217269, 1
o5317217270. 2
o5317217271. 3
05317217272, 4

Question Number : 19 Question Id : 5531724333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
National Research Centre for grapes is located at
(1) Nashik
(2) Pune
(3) Muzaffarpur
(4) Lucknow

Options :

oosli2lradrs. 1
55317217274 2
55317217275. 3
o5317217276. 4

Question Number : 20 Question Id : 5531724334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The National Milk Day which marks the birth
anniversary of father of White Revolution Dr. Verghese
Kurien is celebrated on

(1) November 23

(2) November 24

(3) November 25

(4) November 26

Options :
oo3lr2lr2rr. 1

22317217278 2
SOSLFELFLFS, 3
22317217280. 4

Part B : AGRICULTURAL ECONOMICS AND AGRI BUSINESS MANAGEMENT

Section Id : 55317238
Section Number : 2
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 180
Number of Questions to be attempted: 180
Section Marks: 720
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 55317260
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5531724335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In the selection process, the types of tests which expect
the candidates to interpret problems or situations based on
their own motives, attitudes, values etc. are called as

1. Projective tests

2. Interest tests
3. Preference tests

4. Achievement tests

Options :
nalr2l 728l 1

22317217282, 2
o231/7217283. 3
po317217284. 4

Question Number : 22 Question Id : 5531724336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A price rate system of compensation where the rate per

piece is increased, as the output level is increased is called
1. Piece rate with guaranteed time rate
2. Differential piece rate

3. Straight piece rate

4. Ascending piece rate

Options :

oo317217285. 1
55317217286, 2
o031 217287, 3
05317217288 4

Question Number : 23 Question Id : 5531724337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following is NOT a employee separation
method?

1. Resignation
2. Lay off
3. Retirement
4. Transfer

Options :
sl fZ2lrZng 1

22317217290. 2
SOSLE21rd9l. 3
2231/7217292. 4

Question Number : 24 Question Id : 5531724338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A grand strategy that involves the operation of a second

business that benefits from access to the firm's core
competencies is called

1. Conglomerate diversification
2. Concentric diversification
3. Vertical integration

4. Horizontal integration

Options :
ool 217293 1

2o317217294. 2
SoSLFLl f£395. 3
o2317217296. 4

Question Number : 25 Question Id : 5531724339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In SWOT analysis, a resource advantage relative to
competitors and the needs of markets a firm serves or

expects to serve is called

1. Opportunity

2. Strength
3. Talent
4. Strategy

Options :
55317217297. 1

BOILF 217298, 2
SoSLFLl f£99 3
55317217300. 4

Question Number : 26 Question Id : 5531724340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Who gave the five forces model to analyse the competition
in a industry?

1. Stacy Adams
2. Michael E. Porter
3. C. K. Prahalad

4. Charles W. C. Hill

Options :
55317217301. 1

BOILF 211302, 2
SoSLFLl 303, 3
o2317217304. 4

Question Number : 27 Question Id : 5531724341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The idea that improvement in one aspect of operations
performance comes at the expense of deterioration Is
another aspect of performance is called

1. Theory of constraints
2. Trade off theory

3. Systems theory

4. Game theory

Options :
55317217305. 1

2231721 7306. 2
oSl iLl F307, 3
55317217308. 4

Question Number : 28 Question Id : 5531724342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

SSE is the business setup in which financial commitment
towards infrastructure is

1. Rs. 1 crore
2. Rs. 4 crores
3. Rs. 5 crores
4.

Rs. 10 crores

Options :
55317217309. 1

DaSlrZlrall; 2
eoslhellsll. o
oo317217312. 4

Question Number : 29 Question Id : 5531724343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A blue print developed by the entrepreneur that describes
all the internal and external elements involved in starting a
business is called

1. Production plan
2. Strategic plan

3. Business plan
4.

Organisation plan

Options :

Soslli2lrals. 1
55317217314 2
ooollelf3ly. 3
55317217316, 4

Question Number : 30 Question Id : 5531724344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which sampling involves selecting only first unit of sample

at random and remaining units are selected at fixed
intervals?

1. Systematic sampling

Multi stage sampling

2.
3. Sequential sampling
4.

Cluster sampling

Options :
oSl Ll a1y, 1

oo31/7217318. 2
SHSLFZ1lra1sy 5
22317217320, 4

Question Number : 31 Question Id : 5531724345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For t-test and F-test, particularly is small samples, which
error term is followed?

1. t-distribution

2. Normal distribution

3. F-distribution

4. Chi-square distribution

Options :
55317217321. 1

22317217322, 2
DaSLIZlrass, 3
55317217324. 4

Question Number : 32 Question Id : 5531724346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

To formulate a problem for solution by the simplex method,
we must add artificial variable to

1. Only equality constraints
2. Only greater than constraints
3. Both (1) & (2)

4. Only lesser than constraints

Options :
onslrdlrags: 1

oSl r2lra2h, 2
00317217327, 3
22317217328. 4

Question Number : 33 Question Id : 5531724347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The process of identifying and denoting a number to the
responses given by a respondent is called

1. Decoding
2. Coding
3. Data editing

4. Data analysis

Options :
oo3lr2l7329. 1

soslr2lrasn, 2
o317 211331 2
55317217332. 4

Question Number : 34 Question Id : 5531724348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which is the accounting system, wherein the operations
are broken into cost centres controllable by a foreman,
sales manager or supervisor?

1. Budgetary Accounting

2. Responsibility Accounting
3. Control Accounting
4.

Cost Accounting
Options :
oodlr2lrsds. i
55317217334, 2
sadlr2lrass 3
55317217336. 4

Question Number : 35 Question Id : 5531724349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which is NOT the technique of capital structure analysis?
Trading on equity
Capital gearing

g =

Capital budgeting
4. Cost of capital

Options :
SoSlr2lrass. 1

SoI1 FZlras8, 2
oSl iLl 330, 3
55317217340. 4

Question Number : 36 Question Id : 5531724350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The transfer of ownership of a commodity from one person
to another creates

1. Form utility
2. Possession utility
3. Place utility
4. Time utility
Options :
o5317217341. 1
55317217342, 2

Bo3LF21r343. 3
2231/7217344. 4

Question Number : 37 Question Id : 5531724351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The farmers registered as sugarcane growers under
factory's jurisdiction and suppose to sell to them only
means

1. Monopoly
2. Monopsony
3. Oligopoly
4. Duopoly

Options :

55317217345. 1
55317217346, 2
55317217347. 3
55317217348 4

Question Number : 38 Question Id : 5531724352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The shutdown price is a point wherein the price of the
products is

1. Less than AVC
2. Less than ATC but more than AVC
3. More than AVC
4. More than ATC

Options :

20317217349, 1
55317217350. 2
20317217501, 3
o5317217352. 4

Question Number : 39 Question Id : 5531724353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What is National income at factor cost?
1. NNP — indirect cost + subsidies
2. NNP + indirect taxes — subsidies
3. NNP - indirect taxes — subsidies
4.

NNP + indirect taxes + subsidies

Options :

SonlseliBhg 1
55317217354 2
ooolldl 30D, 3
55317217356, 4

Question Number : 40 Question Id : 5531724354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the type of inflation wherein the prices of few

commodities of a sector show upward trend?
1. Sporadic inflation
2. Open inflation
3. Suppressed inflation
4. Hyper inflation

Options :

SoS Ll 211307, 1
55317217358. 2
55317217359. 3
o5317217360. 4

Question Number : 41 Question Id : 5531724355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following is NOT the basis for
demographic segmentation?

1. Age

2. Gender
3. Lifestyle
4. Income

Options :
55317217361. 1

BOILF 211382, 2
SoSLidl fae3. 3
55317217364. 4

Question Number : 42 Question Id : 5531724356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which distribution method does the FMCG manufacturers
mostly choose to market their products?

1. Intensive

2. Exclusive

3. Selective

4. Random

Options :
55317217365. 1

55317217366. 2
DaSLIZlrast, 3
22317217368. 4

Question Number : 43 Question Id : 5531724357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In which phase of the product life cycle are the profits at
the peak?

1. Introduction
2. Growth
3. Maturity

4. Decline
Options :
55317217369. 1
55317217370, 2
o5317217371. 3
55317217372 4

Question Number : 44 Question Id : 5531724358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The pesticide consumption in India is highest on which
crop?

1. Cotton
2. Paddy
3. Wheat
4. Redgram

Options :

SoS Ll 21 I3% 1
55317217374, 2
55317217375. 3
o5317217376. 4

Question Number : 45 Question Id : 5531724359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What is the term for the range of products produced by a
company?

1. Marketing mix

Product mix

Z.
3. Promotion mix
4. Product line

Options :
Ssaslr2learys: 1

pa3l721r3fo. 2
SoSlr2lrsry o
22317217380. 4

Question Number : 46 Question Id : 5531724360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The target year for the programme on doubling of the
Farmers’ Income is

1. 2020
2. 2021
3. 2022
4. 2023

Options :

o5317217381. 1
05317217382, 2
o5317217383. 3
55317217384 4

Question Number : 47 Question Id : 5531724361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The research that is concerned with exploring the effect of
one variable on another is

1. Causal research

2. Descriptive research
3. Problem research
4.

Effect research

Options :
55317217385. 1

BOILF 2171386, 2
SoSLiLl rauf. 3
55317217388. 4

Question Number : 48 Question Id : 5531724362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A statement which conveys about the philosophy, climate,
products and markets of a company is

1. Mission
2. Vision
3. Strategy
4.

Objectives

Options :

Sh317217383. 1
55317217390, 2
55317217391, 3
o5317217392. 4

Question Number : 49 Question Id : 5531724363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which motivation theory says that individuals compare
their job inputs and outcomes with those of others and then
respond to eliminate any inequities?

1. Reinforcement theory
2. Equity theory

3. Inequity theory
4.

Equal motivation theory

Options :
oo3lr2lr7393. 1

22317217394, 2
50317217395, 3
o2317217396. 4

Question Number : 50 Question Id : 5531724364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which of the following situations will the bargaining
power of suppliers will be more?

If the suppliers offering is specialised

When there are unlimited suppliers

If the firm has resources for backward integration

. e N

When substitutes are available

Options :
a3l 217397, 1

BOILF 217398, 2
SoSLiLl 399 3
55317217400. 4

Question Number : 51 Question Id : 5531724365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Ildentifying the segment/segments in which the firm is
capable of serving and has sales / profit potential is

1. Targeting
2. Positioning
3. Gridding
4.

Differentiating

Options :
sl rZir4ul: 1

22317217402, 2
22317217403. 3
55317217404, 4

Question Number : 52 Question Id : 5531724366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the term for limit on the total physical quantity or

total value of a particular import that may enter the country
during a given time?

1. Tariffs
2. Quotas
3. Subsidies
4. Permits

Options :
55317217405. 1

22317217406, 2
2o317217407. 3
22317217408. 4

Question Number : 53 Question Id : 5531724367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



The subsidy being extended presently to the fertilizer units
after the decontrol is

1. Nutrient based subsidy

2. Retention price scheme
3. Group based subsidy
4. Adhoc subsidy

Options :
oo3lr217409. 1

22317217410. 2
soS3Lf2lr4ll. 3
po31/7217412. 4

Question Number : 54 Question Id : 5531724368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The support price fixed by the government with regard to
sugarcane is called as

1. Minimum support price
2. Statutory minimum price
3. Procurement price

4. Levy price

Options :
55317217413. 1

p2317217414. 2
22317217415. 3
55317217416. 4

Question Number : 55 Question Id : 5531724369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What is the term given to the startups having high potential
for growth?

1. Life style
2. Foundation
3. Gazelles

4. High tech rise

Options :
o121 7417 1

22317217418. 2
55317217419. 3
22317217420. 4

Question Number : 56 Question Id : 5531724370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The tendency to disperse decision-making authority in an
organization structure is called

1. Responsibility sharing
2. Centralisation of authority

3. Decentralisation of authority

4. Decision free
Options :
55317217421. 1
55317217422. 2
55317217423, 3
55317217424 4

Question Number : 57 Question Id : 5531724371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The company's ability to satisfy its short and long term
obligations is indicated by

1. Leverage ratio

2. Quick ratio

3. Solvency ratio

4. Liquidity ratio

Options :
55317217425. 1

55317217426. 2
soslr2lrazy. o
02317217428. 4

Question Number : 58 Question Id : 5531724372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the concept in which a country sells domestically
produced goods at high price in domestic market and at
low price in international market?

1. Penetration
2. Dumping
3. Leadership
4. Gambling

Options :
55317217429. 1

22317217430, 2
SoS1lrZlrasl, 5
o2317217432. 4

Question Number : 59 Question Id : 5531724373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What is the expert opinion method of forecasting called as?

1. Survey method
Barometric method

2.
3. Salesforce method
4.

Delphi method

Options :
55317217433. 1

55317217434. 2
o2317217435. 3
po317217436. 4

Question Number : 60 Question Id : 5531724374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following is the implicit cost?

1. Wages paid to its employees
2. Rent paid for hired equipment

3. Depreciation charged on company's own
equipment

4. Taxes on property owned by company

Options :
ool 2l 437 1

55317217438. 2
BHILF 217429 3
22317217440. 4

Question Number : 61 Question Id : 5531724375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What is the function of the focus group method?
1. To collect secondary data
2. To analyse the data collected
3. To collect primary data
4.

To collect data focusing on economic aspect only

Options :
55317217441. 1

22317217442, 2
22317217443, 3
22317217444, 4

Question Number : 62 Question Id : 5531724376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following component does NOT belong to
the category of economic environment of the business?

1. Monetary policy
2. Bureaucratic setup

3. National income

4. Natural resources
Options :
55317217445 1
55317217446, 2
55317217447. 2
552317217448 4

Question Number : 63 Question Id : 5531724377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which is the most suitable method for forecasting demand
with historical data having erratic fluctuations?

1. Moving average method
2. Weighted moving average method
3. Exponential smoothing

4. Least square method
Options :
55317217449. 1
55317217450, 2
55317217451. 3
55317217452 4

Question Number : 64 Question Id : 5531724378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which analysis will indicate the extent to which a project

can face adverse conditions?
1. Profitability analysis

2. Simulation analysis
3. Ratio analysis

4. Sensitivity analysis
Options :
55317217453. 1
55317217454 2
05317217455, 3
55317217456. 4

Question Number : 65 Question Id : 5531724379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What is the facility designed to assist the business venture
to make it established and sustainable during their initial
stages called?

1. Technology Development Board
2. Business basement

3. Seed support system
4.

Business incubators

Options :
Sosl7Z2l/457. 1

o2317217458. 2
SHSL 2l a5y 5
55317217460. 4

Question Number : 66 Question Id : 5531724380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Who first introduced the term agribusiness?

1. Davis & Goldberg
2. Michael porter

3. Peter Drucker
4.

Boston consulting group

Options :
55317217461 1

22317217462, 2
boI17¥ 217483, 3
2o317217464. 4

Question Number : 67 Question Id : 5531724381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which ratio measures the extent to which liquid resources
are immediately available to meet current obligations?

1. Debt equity ratio
2. Acid test ratio
3. Inventory turnover ratio

4. Gross profit ratio

Options :
55317217465. 1

22317217466, 2
2o317217467. 3
55317217468. 4

Question Number : 68 Question Id : 5531724382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which model explains the effect of a change in price on the
product of an agricultural commodity with a lag

1. Cob web model

2. Trade cycle model
3. Cyclical model
4.

Sensitivity model

Options :
55317217469 1

22317217470. 2
22317217471, 3
oo317217472. 4

Question Number : 69 Question Id : 5531724383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What is the intrinsic or true value of a factor or product in
the sense of equilibrium prices called as?

1. Shadow price
2. Market price

3. Wholesale price
4.

Retail price

Options :
55317217473. 1

o2317217474. 2
223172174/5. 3
55317217476. 4

Question Number : 70 Question Id : 5531724384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Non negativity condition is an important component of LP
model because

1. Variables value should remain under the control
of the decision maker

2. Value of variables make sense and
correspondence to real world problems

3. Variables are interrelated in terms of limited
resources

4. Both(1)&(3)
Options :
sh3L 21 ar7; A
oSl f2l FArs 2
sH3Lr21rdra. 3
52317217480. 4

Question Number : 71 Question Id : 5531724385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The prices of exports of a country in terms of its imports
Is called

1. Terms of negotiation
2. Terms of trade

3. Terms of balance

4. Tariffs

Options :

55317217481. 1
55317217482, 2
55317217483 3
05317217484 4

Question Number : 72 Question Id : 5531724386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If the gross income expected by the banker is Rs. 48000/-
and the variability i1s 15 percent. Then what is the deflated
gross income?

1. Rs. 7,200/-
2. Rs. 40,800/-
3. Rs. 46,500/-
4. Rs. 40,685/-

Options :
Sosl7rZlr4un. 1

55317217486. 2
oo317217487. 3
55317217488. 4

Question Number : 73 Question Id : 5531724387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What should be the goal for the success of a business
plan?

1. General
2. Imaginary
3. Unlimited
4. Specific

Options :
55317217489. 1

22317217490. 2
soslr2lr4al, o
2o317217492. 4

Question Number : 74 Question Id : 5531724388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The value of the firm is maximized when

1. The market price of equity share is maximum
2. The market price of equity share is minimum
3. The market value of debt is maximum

4. Intrinsic value of debt is maximum

Options :
bod3lr217493. 1

22317217494. 2
o2317217495. 3
22317217496. 4

Question Number : 75 Question Id : 5531724389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What is channel conflict between the wholesaler and
retailer called as?

1. Vertical conflict
2. Horizontal conflict

3. Reverse conflict

4. Historical conflict

Options :

55317217497. 1
o5317217498. 2
55317217499 3
55317217500, 4

Question Number : 76 Question Id : 5531724390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the inventory orders are placed with size determined by

the EOQ, then the reorder cost components to the holding
cost component is

1. Greater
2. Equal
3. Lesser

4. Either (1) or (3)

Options :
55317217501. 1

2231721 7502. 2
oSl iel /503, 3
55317217504. 4

Question Number : 77 Question Id : 5531724391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The strategy of introducing a new product into the market
with high price, high promotion and high profit is called

1. Penetration

2. Skimming
3. Stabilisation

4. Optimization

Options :
55317217505. 1

55317217506. 2
soslr2lrsiyr. o
02317217508. 4

Question Number : 78 Question Id : 5531724392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What does CIF stand for in export marketing?
1. Cost Interest Fund
2. Cost Input Factor
3. Cost Insurance Freight
4.

Cost Implementation Franchise

Options :
oo3lr2172009. 1

soslr2lrsll 2
BoI17¥ 211511 2
55317217512. 4

Question Number : 79 Question Id : 5531724393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The promotional step mined at direct and instant
inducement of sales increase is

1. Advertisement

2. Publicity
3. Personal selling

4. Sales promotion

Options :

ooslli21013. 1
55317217514 2
o5317217515. 3
55317217516. 4

Question Number : 80 Question Id : 5531724394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

Which one of the following is NOT the activity of publicity?
1. Creating good public opinion
2. Maintaining good relationship with media

3. Setting up own hoardings of the company and its
products

4. Participating in the developmental needs of the
society

Options :

Sooll 21517, 1
55317217518. 2
55317217519. 3
55317217520. 4

Question Number : 81 Question Id : 5531724395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following is the most expensive form of
promotion?

1. Advertisement

2. Sales promotion
3. Publicity

4. Personal selling

Options :

Sooll2lihdl; 1
oSl f2lI022. 2
55317217523, 3
05317217524 4

Question Number : 82 Question Id : 5531724396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The act of fixing the locus of the product offer in the minds
of the target consumers is called

1. Targeting
2. Branding
3. Sensoring
4.

Positioning

Options :
DosSliZ2lroadd. 1

22317217526. 2
soslr2lrasyr. o
02317217528. 4

Question Number : 83 Question Id : 5531724397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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If the production function is homogeneous of degree one,
then the return to scale will be

1. Equal to unity

2. Less than unity
3. Greater than unity
4.

Equal to zero

Options :

55317217529. 1
55317217530, 2
o5317217531. 3
55317217532 4

Question Number : 84 Question Id : 5531724398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

The ‘Agri Udaan’ programme was launched in India with an
objective of promoting

1. Innovation and entrepreneurship in agriculture
2. Use of remote sensing in agriculture

3. Water conservation through drip and sprinkler
4.

Digitalisation of agricultural information

Options :
Soslr2liods 1

55317217534. 2
Soslr2lrass, o
BOILF 211536, 4

Question Number : 85 Question Id : 5531724399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which concept was evolved in order to bring small and
marginal farmers to form an effective alliance to collectivity
address the challenges of agriculture?

1. Self-help groups

2. Farmers producers organisations

3. Cooperative societies

4 Alloftheabove

Options :

sooallfZlrady. 1
55317217538, 2
55317217539. 3
55317217540 4

Question Number : 86 Question Id : 5531724400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following statements about the projects is
NOT correct?

1. Projects are catalytic agents of economic
development

2. Projects provide framework of future activities
3. Project commitments can be easily reversed

4. Projects involve substantial financial outlay and
time period
Options :
55317217541. 1
55317217542 2

o317 217543, 3
22317217544. 4

Question Number : 87 Question Id : 5531724401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



The rate of discount at which the cost and benefit streams
over the life of the project are equalized is called as

1. CBR
2. NPV
3. EIRR
4. SER

Options :
1217545, 1

22317217546. 2
55317217547. 3
55317217548. 4

Question Number : 88 Question Id : 5531724402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The willingness to take calculated risk in a project can be
categorized under

1. Strength
2. Weakness
3. Opportunity
4. Threat

Options :
55317217549. 1

55317217550. 2
oagliZlrasl, 3
SoslrZlrass, 4

Question Number : 89 Question Id : 5531724403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following is not a component of Agreement on
Agriculture of WTO?

1. Minimum Market Access Commitment
2. Domestic support

3. Export subsidies
4.

Terms of trade
Options :
55317217553. 1
55317217554, 2
bodlr2lrabb. 3
55317217556, 4

Question Number : 90 Question Id : 5531724404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In India, co-operative society system was introduced by

1. Lord Warren Hastings
2. Lord Canning

3. Lord Curzon
4. Lord Bentinck

Options :

ool f2lrsb7. 1
Sosll 217508, 2
SoS1 217509, 3
55317217560. 4

Question Number : 91 Question Id : 5531724405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The Philips curve shows relationship between
1. Level of unemployment and rate of inflation
2. Savings and investment
3. Marginal tax rates and tax revenue
4.

Budget deficit and trade deficit

Options :

soolseliohl, 1
ooolliZ2lrsbe. 2
55317217563. 3
55317217564, 4

Question Number : 92 Question Id : 5531724406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Regulated markets were established under which Act?
1. MRTP Act
2. Cooperative Society Act
3. APMC Act
4.

Consumer Protection Act

Options :
aaalfZlrnes, 1

55317217566, 2
SOSLE21LFO6E. 3
55317217568. 4

Question Number : 93 Question Id : 5531724407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Dummy variables can take

Only zoo and one value
Any positive value

Any linear transformation of O and 1

o e B -

Any integer value

Options : .
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sodlf2lisesd. 1
o2317217570. 2
SoSlrZlrasl; 5
o2317217572. 4

Question Number : 94 Question Id : 5531724408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ISO 9000 defines
1. Quality Management
2. Personal Management
3. Quantity management
4.

Labour Management

Options :
Soslr2liors 1

55317217574. 2
SoslrZlrars. o
BOILF 211576, &

Question Number : 95 Question Id : 5531724409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The concept of Total Quality Management (TQM)
originated in which country?

1. America

2. India
3. China
4. Japan

Options :
Saslr2leasre: 1

pad3l721rsfo. 2
SoSlrZlrsaryg o
05317217580. 4

Question Number : 96 Question Id : 5531724410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcol legedunia:
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Who is known as the “Father of Modern management™?

1. F.W. Taylor
2. Henry Fayol
3. Peter F. Drucker
4. Louis Allen

Options :
nnlr2l o8l 1

So3LFLl robd. 2
o231/7217583. 3
22317217584. 4

Question Number : 97 Question Id : 5531724411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

While assigning random numbers in Monte Carlo
Simulation, it is

1. Not necessary to assign the exact range of
random number interval as the probability

2. Necessary to develop a cumulative probability
distribution

3. Necessary to assign the particular appropriate
random numbers

4. Simple probability distribution

Options :
121585, 1

SoSLidl fodb. 2
02317217587, 3
55317217588. 4

Question Number : 98 Question Id : 5531724412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In Markov analysis, state probabilities must
1. Sumto one
2. Beless than one
3. Be greater than one

4. Be any negative value

Options :

55317217589. 1
55317217590, 2
55317217591, 3
o5317217592. 4

Question Number : 99 Question Id : 5531724413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The term that refers to the triggers which give a cue to the

respondent so as to simulate the memory and extract
some forgotten material is

1. Assisted answer

2. Aided recall
3. Unaided recall

4. Forced recall
Options :
55317217593. 1
55317217594 2
55317217595. 3
55317217596. 4

Question Number : 100 Question Id : 5531724414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The industries that are typically created by the innovations
of pioneering companies that become the first movers in a

new market are called
1. Fragmented industries
2. Embryonic industries
3. New industries

4. Modern industries
Options :
55317217597. 1
55317217598. 2
55317217599. 3
55317217600. 4

Question Number : 101 Question Id : 5531724415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Theory ‘X and theory 'y’ were proposed by
1. F.W. Taylor
2. Douglas Mc Gregor

3. Chris Argyris
4. Bernard Chester

Options :
55317217601. 1

22317217602. 2
o3l 2l /803, 3
55317217604, 4

Question Number : 102 Question Id : 5531724416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The achievement of objectives with the least amount of
resources is called

1. Effectiveness
2. Efficiency

3. Productivity
4. Quality

Options :
55317217605 1

22317217606. 2
22317217007, 3
55317217608. 4

Question Number : 103 Question Id : 5531724417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The importance of one of the following functions of
management increases as we go down the managerial
hierarchy in an organisation

1. Planning
2. Organising
3. Leading

4. Controlling

Options :

oo317217609. 1
55317217610. 2
2o3lr2l7ell. 3
oo317217612. 4

Question Number : 104 Question Id : 5531724418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following would tend to reduce risk for the
manager of a farm business?

1. Selecting the crop with highest returns
2. Selling more commodity
3. Specialisation

4. Diversification

Options :
onslrdlrels. 1

22317217614 2
Bo3L7¥217bls: 3
55317217616. 4

Question Number : 105 Question Id : 5531724419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Individuals or groups that have an interest, claim or stake
In the company about its activities and performance are
called

Owners
Government
Stakeholders
Public

o o -

Options :
55317217617. 1

p2317217618. 2
oSl iLliBlY. 3
55317217620. 4

Question Number : 106 Question Id : 5531724420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For a positively skewed distribution
1. Mean = Median = Mode

2. Mean > Median > Mode
3. Mean < Median < Mode
4.

Mean > Median < Mode

Options :

55317217621. 1
05317217622, 2
55317217623. 3
55317217624 4

Question Number : 107 Question Id : 5531724421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A downgrading process where the employee suffers

considerable emotional and financial loss in the form of
lower rank, power and status is called

1. Termination
2. Scalar decline
3. Demotion

4. Deceleration

Options :
55317217625. 1

22317217626. 2
SoSLILLIBET, 3
55317217628. 4

Question Number : 108 Question Id : 5531724422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ABC is a method of
1. Inventory control
2. Accounting control
3. Process control
4.

Grading of products

Options :
oo3lr2lr7ez9. 1

55317217630. 2
SoSlrZlrfesl, 5
o2317217632. 4

Question Number : 109 Question Id : 5531724423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the statements about the preference shares
IS correct?

1. Less risky

2. Costly

3. More flexible but risky
4.

Non-redeemable

Options :

55317217633, 1
05317217634, 2
55317217635, 3
55317217636, 4

Question Number : 110 Question Id : 5531724424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which is not the technique of capital structure analysis?
Trading on equity

Capital gearing

Capital budgeting

.

Cost of capital

Options :
oaslrdlresy, 1

55317217638. 2
SoolrZlfesd 5
22317217640. 4

Question Number : 111 Question Id : 5531724425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Human Development Index (HDI) attempts to rank the
countries / states on a scale of

1. =1to +1
2. 110700
3. Oto 1

4. —100 to +100
Options :
oo317217641. 1
20dlr2lit4z. 2
55317217643, 3
oo317217644. 4

Question Number : 112 Question Id : 5531724426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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One of the following is NOT a type of farming
1. Dry farming
2. Ranching
3. Mixed farming
4. Cooperative farming

Options :
55317217645. 1

55317217646, 2
po31/721r647. 3
2231721 7648. 4

Question Number : 113 Question Id : 5531724427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Iso-quants are always

1. Convex to origin

2. Concave to origin
3. Vertical straight line
4.

Horizontal straight line

Options :
55317217649. 1

22317217650. 2
55317217651. 3
22317217652. 4

Question Number : 114 Question Id : 5531724428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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“Too much money chasing too few goods” is termed as
inflation.

Cost push
Demand pull

Demand-shift

il

Sporadic
Options :

55317217653, 1
55317217654, 2

BOILF217bds: 3
22317217656. 4

Question Number : 115 Question Id : 5531724429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Dalton’s formula for maladjustment is where A-
actual population and O-optimum population.
1 A-0O
' O
O-A
2 B
A-0
. A
O-A
4. =
Options :

SoSlrZlress: 1
22317217608. 2
SOS3LE21 659 3
55317217660. 4

Question Number : 116 Question Id : 5531724430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A market structure in which a single seller faces a single
buyer is termed as

1. Monopoly

2. Monopsony

3. Bilateral monopoly
4.

Monopolistic

Options :

55317217661, 1
55317217662 2
55317217663, 3
55317217664 4

Question Number : 117 Question Id : 5531724431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

Bohm — Bawerk, an Austrian Economist developed Agio
theory of

1. Rent
2. Wages
3. Interest
4. Profit

Options :
55317217665 1

22317217666. 2
22317217667, 3
55317217668. 4

Question Number : 118 Question Id : 5531724432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following is not the function of money?
Storage
Transferable

Exchange

adl A

Processable

Options :
55317217669, 1

22317217670. 2
Bo3lZlierl, 3
55317217672, 4

Question Number : 119 Question Id : 5531724433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Suppose an individual dies without successor, his property
will go to the state government is termed as

Special assessment

Donations

Tributes

- e =

Escheat

Options :

65317217673 1
55317217674 2
55317217675, 3
55317217676. 4

Question Number : 120 Question Id : 5531724434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which phase of Business cycle achieve overfull
employment

1. Recovery
2. Prosperity
3. Boom

4. Recession

Options :
55317217677. 1

22317217678 2
Soslr2lrsry o
22317217680. 4

Question Number : 121 Question Id : 5531724435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The ratio of nominal GNP to real GNP is termed as GNP
1. Inflator

2. Deflator
3. Stagflator
4. Reflector

Options :
55317217681. 1

Do317217682. 2
55317217683. 3
55317217684. 4

Question Number : 122 Question Id : 5531724436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following is micro environmental factor that
affect the business?

1. Customer

2. Political

3. Sociological
4. Geographical

Options :

55317217685, 1
55317217686, 2
o5317217687. 3
55317217688. 4

Question Number : 123 Question Id : 5531724437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

All the commercial bank under public sector are
implemented DIR scheme since

1. 1991
2. 19717(
3. 1975
4. 1986

Options :

55317217689. 1
55317217690, 2
55317217691. 3
55317217692 4

Question Number : 124 Question Id : 5531724438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



Which of the following terms is not related to Porter's
Generic strategy?

1. Competitive scope

2. Market attractiveness
3. Focus
4. Cost leadership

Options :
SosliZlraEs 1

o2317217694. 2
0o3172176395. 3
22317217696, 4

Question Number : 125 Question Id : 5531724439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Vogel's Approximation Method (VAM) is the technique
used for

1. Transportation problems
2. Linear programming
3. Game theory

4. Assignment problem

Options :
55317217697. 1

55317217698. 2
Soslr2lrsby o
02317217700. 4

Question Number : 126 Question Id : 5531724440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which type of unemployment exists due to lack of
adjustment between demand for and supply of labour?

1. Structure

2. Seasonal
3. Frictional
4. Technological

Options :
ooslr2l7701. 1

Dol i21ri0L 2
soslr2lrrbs o
2o317217704. 4

Question Number : 127 Question Id : 5531724441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

When adjusted R? is negative, it can be considered as

1. Zero

2. Unity

3. Infinity

4. Negative only

Options :

55317217705, 1
55317217706, 2
o5317217707. 3
05317217708, 4

Question Number : 128 Question Id : 5531724442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which technique is used to estimate consumption of the
basket of goods at the consumer level?

1. Warranty card
2. Pantry audit

3. Store audit
4.

Guarantee card

Options :
oo3lr217709. 1

a3l r21ri10. 2
soslrzlrrll. &
BOILF217+12. 4

Question Number : 129 Question Id : 5531724443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Forward market commission (FMC) was established under
section 3 of the Forward Contracts Regulation Act

1. 1902
2. 1962
3. 1972
4. 1982

Options :
L2171 A

22317217714. 2
ob317217715. 3
po31/7217716. 4

Question Number : 130 Question Id : 5531724444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The value of ‘r' (correlation coefficient) ranges between
1. —1to +1
Zero to one

- 3
3. Less than zero
4.

+100 to +100

Options :
Ssaslr2lirlys: 1

SOIL 21/ 18, 2
SoSLILLL 1Y, 3
22317217 720. 4

Question Number : 131 Question Id : 5531724445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

While solving linear programming graphically, the
intersection of two lines will define a corner point of the
feasible region. But at this point, if three lines intersect, this

shows the presence of in the problem.
1. Unbounded nature
2. Degeneracy
3. Alternate optimum
4. Infeasibility

Options :
vos3lr2lrrzl, 1

22317217722, 2
SOSLIELFF2s, 3
22317217724, 4

Question Number : 132 Question Id : 5531724446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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If the sum of the supplies of all the sources is equal to the
sum of the demands of all the destination then the

transportation problem is termed as
1. Unbalanced
2. Balanced

3. Standard

4. Semi standard
Options :
onall217725. 1
55317217726, 2
55317217727. 3
55317217728. 4

Question Number : 133 Question Id : 5531724447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

In the three stages of production function, after inflection

point starts decreasing.
1. TP
2. AP
3. MP
4. MR
Options :

BoS3LIZlr 2. 1
22317217 730. 2
oo0dl7217731. 3
oo317217732. 4

Question Number : 134 Question Id : 5531724448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Returns to scale & elasticity are directly measured from
production function

1. Linear
2. Cobb-Douglas
3. Quadratic

4. Transcendental

Options :

Sooll 2l 3s. 1
55317217734 2
o5317217735. 3
05317217736, 4

Question Number : 135 Question Id : 5531724449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The tax paid on the basis of expenditure levels is
1. Direct tax

2. Indirect tax
3. Income tax
4.

Excise duty

Options :
R W W T A

BOILF217+38. 2
SoSLiLl P39 3
55317217740. 4

Question Number : 136 Question Id : 5531724450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The ratio of quantity of output & input is termed as
efficiency.

1. Technical

2. Economic
3. Allocative
4.

Resource sue

Options :
55317217741. 1

22317217742, 2
22317217743. 3
oo317217744. 4

Question Number : 137 Question Id : 5531724451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The European Union (EU) consists of member
states as on 2018.

1. 23

2. 22

3. 28

4. 32
Options :

D2317217745. 1
22317217746, 2
BOILF211+47. 3
22317217748. 4

Question Number : 138 Question Id : 5531724452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Elasticity of production is less than one through the stage
iIn production function.

1. First
2. Second
3. Third
4. Irrational

Options :

55317217749, 1
55317217750, 2
Sosll2lifsl. 3
55317217752, 4

Question Number : 139 Question Id : 5531724453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

IBRD is synonymous to
1. World Bank
2. Asian Development Bank
3. IMF
4. WTO

Options :

55317217753. 1
55317217754 2
05317217755, 3
55317217756. 4

Question Number : 140 Question Id : 5531724454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Where is the headquarter of AGMARK located?

1. Nagpur
2. Jaipur
3. Faridabad
4. New Delhi

Options :
50317217757. 1

02317217 758. 2
SoolLFZlrfsd 5
22317217 760. 4

Question Number : 141 Question Id : 5531724455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The market situation in which there are larger number of
sellers and buyers dealing with differentiated products is

known as
Monopoly
Oligopsony

e

Oligopoly

4. Monopolistic
Options :
55317217761, 1
05317217762, 2
50317217763, 3
05317217764 4

Question Number : 142 Question Id : 5531724456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Who has been awarded Nobel Prize for Economics during
20187

1. Paul Romer
2. Richard Thaler

3. Oliver Hart

4. Bengt Holmstrom

Options :
boSlr2lifos: 1

22317217 766. 2
o3l 2l bY. 3
55317217768. 4

Question Number : 143 Question Id : 5531724457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The business firm will critically analyse the marketing
strategy of the product in stage.

1. Growth

2. Development
3. Maturity
4. Introduction

Options :
oos3lr2177069. 1

DASLFZLFFFU, 2
soslr2lrrrl, &
BOILF21 1472 4

Question Number : 144 Question Id : 5531724458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In terms of vegetable production, India stands at
position in world.

1. First
2. Second
3. Third
4. Fourth

Options :

55317217773. 1
55317217774, 2
So3LF21 7770, 3
o5317217776. 4

Question Number : 145 Question Id : 5531724459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
Offering more quantity for sale at a higher price is termed
as supply.

Extension

Contraction

Increase

ol ol

Decrease

Options :
Sk R T o |

DoILIZ1l T8, 2
SOSLE2LFErY 3
2231/7217780. 4

Question Number : 146 Question Id : 5531724460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



A single repayment loan, with no amortization that requires
a balloon payment is termed as

1. Soft loan
2. Bullet loan
3. Hard loan
4.

Crop loan

Options :
el rZlrrul, 1

BOILF211+82. 2
SoSLFLL L83, 3
55317217784. 4

Question Number : 147 Question Id : 5531724461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In the very short period the supply curve of the perishable
commodity is

1. Vertical straight line

2. Horizontal straight line

3. Downward from left to right
4. Upward from left to right

Options :

So317217785. 1
55317217786, 2
o5317217787. 3
o5317217788. 4

Question Number : 148 Question Id : 5531724462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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When a given proportionate change in price results in the
same proportionate change in the quantity demanded of a
commodity, the demand is said to be

1. Unitary Elastic

2. Unitary Inelastic
3. Relatively Elastic
4

Relatively Inelastic

Options :
oos3lr21r789 1

BOILF217+30: 2
SoSLiLlfFal, 3
oo317217792. 4

Question Number : 149 Question Id : 5531724463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
At Break-Even point in a business

1. MC =MVP
2. MC=MR
3. FGC= NG
4. TC=TR

Options :
Sl 2l rres 1

02317217 794. 2
SOSLE21LFEYS. o
55317217796. 4

Question Number : 150 Question Id : 5531724464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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One market segment [NOT the entire market] is served
with one product refers to

Product specialization
Market specialization

Single segment strategy

=i -

Selective specialization

Options :
SLh B W R e Ko

Dol 218, 2
SOSLE21L A9 3
55317217800, 4

Question Number : 151 Question Id : 5531724465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In input-output relationship when MP = AP, then the
elasticity of production will be

1. Less than zero

2. Equal to zero
3. Less than one
4.

Equal to one

Options :

55317217801. 1
55317217802, 2
55317217803. 3
55317217804 4

Question Number : 152 Question Id : 5531724466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Pareto efficiency is the point where

1. Reallocation of resource is possible without
affecting the other players.

2. Reallocation of resource is not possible without
affecting the other players.

3. Social welfare is medium.

4. Social cost is minimum.

Options :
55317217805. 1

55317217806, 2
DadlrZlreur, 3
55317217808. 4

Question Number : 153 Question Id : 5531724467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A policy used by the government to control prices through
the control of public revenue and public expenditure is

termed as
1. Marketing policy
2. Fiscal policy
3. Prize policy
4. Monetary policy

Options :
o3l 217809, 1

oS3l iZlrall, 2
soS3Lr21r811. 3
2231/7217812. 4

Question Number : 154 Question Id : 5531724468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The following is not a function of Reserve Bank of India
1. Currency issue
2. Banker to the government

3. Credit contrast measures

4. Preparation of Union Budget

Options :
55317217813. 1

22317217814. 2
SoSLiLlI8ls, 3
55317217816. 4

Question Number : 155 Question Id : 5531724469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The Instrument used for eliciting information by the
researcher from the respondents through personal

Interview is
1. Questionnaire
2. Schedule
3. Data instrument

4. Mail Questionnaire
Options :
65531721/7817. 1
6531721/7818. 2
5531721/7819. 3
65317217820. 4

Question Number : 156 Question Id : 5531724470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The variables whose values are determined within the
system of equation are called variables.

1. Endogenous
2. Exogenous
3. Dummy

4. Slack

Options :
55317217821. 1

BOILF 211822 2
SoSLFLlr823. 3
22317217824. 4

Question Number : 157 Question Id : 5531724471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which market is permanent in nature?

1. Regional
2. Secular
3. APMC
4. Monopoly

Options :
oSl r2lrsgs: 1

22317217826, 2
BOILF 217827 3
55317217828. 4

Question Number : 158 Question Id : 5531724472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In which year, the F.C.l. was established?

1. 1975
2. 1935
3. 1965
4. 1955

Options :

55317217829. 1
05317217830, 2
55317217831, 3
55317217832. 4

Question Number : 159 Question Id : 5531724473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

According to which theory, monetary disturbances will
directly affect prices and production of all types of goods?

1. Friedman
2. Keynesian
3. Frank Knight

4. Solow
Options :
55317217833. 1
55317217834. 2
DosSLr21re3d. 3
55317217836. 4

Question Number : 160 Question Id : 5531724474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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How many members are there in Regulated Market
Committee?

2. T
3. 17
4. 19

Options :
o172l r837. 1

55317217838. 2
Da3l721ra33. 3
22317217840. 4

Question Number : 161 Question Id : 5531724475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If a constant value 30 is deducted from each observation of
a set, the mean of series

1. increases by 30
2. decreases by 30
3. becomes zero
4.

remains constant

Options :
55317217841. 1

22317217842, 2
o2317217843. 3
22317217844. 4

Question Number : 162 Question Id : 5531724476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The produced means which is further used for production
Is called

1. Wealth
2. Money
3. Profit

4. Capital

Options :
55317217845. 1

55317217846, 2
22317217847, 3
02317217848. 4

Question Number : 163 Question Id : 5531724477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Transporting the apples from Himachal Pradesh to other

state will create utility.
1. Place
2. Time
3. Form
4. None of the above

Options :
55317217849. 1

o317 21 7850: 2
SoSLFLlresl, 3
o2317217852. 4

Question Number : 164 Question Id : 5531724478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which function is used to overcome the problem of
constant elasticity of substitution in Cobb. Douglas
production function?

1. Transcendental

2. Spillman
3. CES:

4. Quadratic

Options :

So317i217858, 1
55317217854, 2
55317217855, 3
55317217856. 4

Question Number : 165 Question Id : 5531724479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
Who has given the growth definition of Economics?

1. Keynes
2. Adam Smith

3. Paul Samuelson

4. Marshall
Options :
55317217857. 1
55317217858. 2
ooslr217859. 3
55317217860. 4

Question Number : 166 Question Id : 5531724480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Game theory is an example of decision model

1. Closed
2. Open
3. Mixed
4. Multi

Options :
55317217861. 1

55317217862. 2
3oL 211863, 5
55317217864. 4

Question Number : 167 Question Id : 5531724481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The amount of import goods a country can purchase per
unit of export goods is termed as

Balance of payments
Terms of trade

Transfer earnings

i

Foreign exchange rate

Options :
55317217865. 1

2231721 7866. 2
o3l 2l r8bY. 3
55317217868. 4

Question Number : 168 Question Id : 5531724482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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At the end of first zone, if the producer is getting 20 units of
output by using 4 units of input, the elasticity of production
will be

1. 4 units
2. 5 percent
3. 1 percent

4. 5 units
Options :
55317217869. 1
55317217870. 2
o5317217871. 3
55317217872. 4

Question Number : 169 Question Id : 5531724483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Who will be loser with the rise in general price level?

1. Debtor
2. Creditor
3. NRI

4. Traders

Options :
oSl 7Llrsrs. 1

55317217874. 2
SOSLFELINED: 3
22317217876. 4

Question Number : 170 Question Id : 5531724484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The income effect in case of inferior goods is

1. Positive
2. Neutral

3. Negative
4. Zero

Options :
55317217877. 1

SOIL 2l r8rE, 2
SoSLiLl I8y, 3
02317217880. 4

Question Number : 171 Question Id : 5531724485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

GNP at factor cost is given by

1. GDP + Income from abroad

2. GDP + Subsidies
3. GNP at Market price — Indirect taxes + subsidies
4.

GNP — Income from abroad

Options :

55317217881. 1
55317217882, 2
55317217883. 3
05317217884 4

Question Number : 172 Question Id : 5531724486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Indicate the returns to scale for the production function:
Log Y = Log 0.50 + 0.80 log X1 + 0.60 log X2 + 0.25 log X3

1. Constant
2. Decreasing
3. Both (1) & (2)

4. Increasing
Options :
55317217885. 1
55317217886, 2
55317217887. 3
505317217888, 4

Question Number : 173 Question Id : 5531724487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which zone of production function is known as Double
Loss Zone?

1. Zone — |
2. Zone — |l
3. Zone -l
4. Zone | & Zone — lll

Options :

55317217889. 1
55317217890, 2
05317217891, 3
55317217892. 4

Question Number : 174 Question Id : 5531724488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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NABARD was established on the recommendation of
committee headed by

1. SriA. D. Garwala

2. Sri Narsimham
3. Sri Sivaraman
4. Dr. Rangarajan

Options :
ood3lr 217893 1

22317217894, 2
55317217895. 3
55317217896. 4

Question Number : 175 Question Id : 5531724489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The maximum value of coefficient of determination is

1. Oto 1
2. —1to+1
3. Infinite
4. 1

Options :
oo3lr217897. 1

Soslr2lrsan. 2
o317 217899 2
22317217900. 4

Question Number : 176 Question Id : 5531724490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The extent of inequality of the distribution of income can be
determined by

1. Elasticity

2. The Pareto Index
3. Growth Models
4.

Linear Programming

Options :
55317217901. 1

Dadli21r80s, 2
soslr2lrals o
22317217904. 4

Question Number : 177 Question Id : 5531724491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The returns to scale and form size has relationship

1. One to one

2. Negative
3. Inverse
4. No

Options :

Boolseliys: 1
55317217906, 2
55317217907. 3
55317217908. 4

Question Number : 178 Question Id : 5531724492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What economic criteria are followed for estimating a
function?

1. High R? & Low S.E.

2. Low variance

3. Sign & size of the parameter

4. Sufficiency
Options :
55317217909. 1
55317217910. 2
55317217911, 3
55317217912 4

Question Number : 179 Question Id : 5531724493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The price elasticity of demand measured between two

district points on a demand curve is called

1. Arc elasticity
2. Cross elasticity

3. Income elasticity

4. Perfectly elastic
Options :
5531721/7913. 1
55317217914 2
55317217915, 3
55317217916, 4

Question Number : 180 Question Id : 5531724494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given the total cost function as: TC = 25 + 4Q + 0.01Q7%,
the MC will be:

1. 4+0.2Q

2. 4Q+0.02Q
3. 4Q +0.02Q?
4. 4 +0.0wQ

Options :
o121 317 4

SoSLFLl 18, 2
ob317217919. 3
22317217920. 4

Question Number : 181 Question Id : 5531724495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which of the following, the kinked demand curve is
observed?

1. Oligopoly market

Monopsony Market

2.
3. Imperfect Market
4.

Monopoly market

Options :

sooll 2192l 1
55317217922, 2
o031 217823, 3
05317217924 4

Question Number : 182 Question Id : 5531724496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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An increase in the income from manmade assets due to
increase In the assets in short run is known as

1. Economic rent

2. Quasi rent
3. Scarcity rent

4. Contract rent
Options :
55317217925. 1
55317217926, 2
55317217927, 3
55317217928. 4

Question Number : 183 Question Id : 5531724497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

Lack of adjustment between demand and supply of labour
causes unemployment

1. Seasonal
2. Cyclical

3. Structured
4

Frictional

Options :
55317217929. 1

SO>I L7 21 7r830: 2
SoSLfLlra31, 3
o2317217932. 4

Question Number : 184 Question Id : 5531724498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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When the prices of a commodity increase from on average
of 100 to 104.50, the type of inflation is

Walking inflation

Creeping inflation

o a8

Hyper inflation

4. Demand pull inflation

Options :
sl Z2lre3s 1

2o317217934. 2
SoSLFLl 935, 3
55317217936. 4

Question Number : 185 Question Id : 5531724499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one is correct in case of the point of inflection?
It is in Zone - 3
It is in Zone - 2

It is in the rational zone

A

MP is maximum

Options :
ol L2l r837: 1

oSl A2l re38. 2
SOSLE21 839 3
2231/7217940. 4

Question Number : 186 Question Id : 5531724500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The MRTS is zero in the situation of
1. ‘L’ shaped isoquant
2. Leontief

3. Constant rate of substitution

4. (1) & (2)

Options :
ood3lr217941. 1

22317217942, 2
so3Lr21r843. 3
22317217944, 4

Question Number : 187 Question Id : 5531724501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Farm business income is computed by
1. Gross income — Total cost
2. Gross income — Cost - Cs

3. Gross income — Cost A

4.

Gross income — Cost C2

Options :
55317217945. 1

55317217946. 2
SoSL 2198y 5
22317217948. 4

Question Number : 188 Question Id : 5531724502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Crop loan is an example of

1. Partially — liquidator loans
2. Self — liquidating loans

3. Non - liquidating loans
4

Medium term loans

Options : .
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55317217949. 1
0231721 7950. 2
SoolrZlrdsl. 5
22317217952. 4

Question Number : 189 Question Id : 5531724503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following state is pioneer in adopting single
window system for the farmers?

1. Punjab

2. Guijarat
3. Tamil Nadu
4. Andhra Pradesh

Options :

55317217953, 1
55317217954, 2
55317217955. 3
55317217956 4

Question Number : 190 Question Id : 5531724504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following bank will be merged with another
bank w.e.f. 1.04.2019?

1. Bank of Baroda
2. S5.8B1

3. Dena Bank

4. HDFC

Options :
L2190y A

SoSLFLl 958, 2
50312178959 3
22317217960. 4

Question Number : 191 Question Id : 5531724505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Which of the following implies the capacity of a firm to meet
its long-term commitments?

1. Leverage ratio
2. Acid test ratio
3. Current ratio

4. Quick ratio

Options :
bos3lr2lr%01. 1

22317217962, 2
Soslr2lrabs o
2o317217964. 4

Question Number : 192 Question Id : 5531724506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The concept of “Learning by Doing” was first introduced by

1. Karl Marx
2. Marshall
3. Keynes
4. Arrow

Options :

55317217965, 1
55317217966, 2
55317217967. 3
o5317217968. 4

Question Number : 193 Question Id : 5531724507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The Purchasing Power Parity theory was developed by

1. Minhas

2. Gustav Cassel

3. J. W. Miller

4. Prof. Ragnar Frisch

Options :

55317217969, 1
55317217970, 2
ool r21rarl. 3
55317217972 4

Question Number : 194 Question Id : 5531724508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
In international trade, C.I.LF is more risky to
than F.O.B.

1. Domestic consumer
2. |Importer
3. Exporter
4. Commission agent

Options :
oo31r21,9r3. 1

22317217974. 2
SOSLIELFars: 3
55317217976. 4

Question Number : 195 Question Id : 5531724509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The MP is 3 units and Fabrication coefficient is 4 units. In
which zone of classical production function, this situation is

found?

1. Zone -

2. Zone - lli

3. Zone -

4. Zone — Il & Il

Options :

ST 2173F 7. 1
o5317217978. 2
Soosll 2158979 3
55317217980 4

Question Number : 196 Question Id : 5531724510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The amount spent on Research and Development is

Included In as per the WTO agreement.
1. Blue Box
2. Green Box
3. Amber Box

4. Both (2) & (3)

Options :
55317217981. 1

05317217982. 2
55317217983. 3
o2317217984. 4

Question Number : 197 Question Id : 5531724511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Multicollinearity refers to the

1. Correlation between successive values of error
terms

2. Correlation between dependent variable and
explanatory variables

3. Correlation between two dependent variables

4. Correlation between any pair of explanatory
variables

Options :

55317217985. 1
55317217986, 2
o5317217987. 3
55317217988. 4

Question Number : 198 Question Id : 5531724512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

Rank and order conditions are used In

1. Simultaneous equation methods

2. Heteroscedasticity
3. ANOVA

4. Stepwise Regression analysis
Options :
55317217989. 1
55317217990. 2
55317217991. 3
§5317217992. 4

Question Number : 199 Question Id : 5531724513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What is the slope of M.P. in a given function: Y =10 + 2X +

6X2?

. N o -

Options :
oos3lr217893. 1

22317217994, 2
SoSLFLl 995 3
22317217996. 4

2 F12X
2X + 12X
12

12X

Question Number : 200 Question Id : 5531724514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The slope of isoquants indicates

1. MRPS
2. MRTS
3. Price ratio
4. M.Css

Options :

55317217997. 1
55317217998. 2
ool /72179899 3
55317218000. 4
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